



St. Louis County, Minnesota

SAGINAW MN 55779

Date of Report: 12/18/2025 2:28:45 AM

Genera	I Detai	ls
--------	---------	----

Parcel ID: 380-0010-05928

Legal Description Details

Plat Name: GRAND LAKE

Section Township Range Lot Block

29 51 16 -

Description: THAT PART OF NE1/4 OF SE1/4 AND GOV'T LOT 2 COMM AT E1/4 CORNER OF SECT 29 THENCE W 951.50

FT TO SELY LINE OF WESTLUND RD THENCE SWLY ALONG SAID RD 152.62 FT TO PT OF BEG THENCE CONTINUE SWLY ALONG SAID ROAD 544.50 FT THENCE SELY AT RIGHT ANGLES 400 FT THENCE NELY AT

RIGHT ANGLES 544.50 FT THENCE NWLY AT RIGHT ANGLES 400 FT TO PT OF BEG

Taxpayer Details

Taxpayer NameCOLLANDER BRADLEYand Address:4998 WESTLUND RD

Owner Details

Owner Name COLLANDER BRADLEY J ETUX

Payable 2025 Tax Summary

2025 - Net Tax \$5,219.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$5,248.00

Current Tax Due (as of 12/17/2025)

Due May 15		Due October 15		Total Due	
2025 - 1st Half Tax	\$2,624.00	2025 - 2nd Half Tax	\$2,624.00	2025 - 1st Half Tax Due	\$0.00
2025 - 1st Half Tax Paid	\$2,624.00	2025 - 2nd Half Tax Paid	\$2,624.00	2025 - 2nd Half Tax Due	\$0.00
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00

Parcel Details

Property Address: 4998 WESTLUND RD, SAGINAW MN

School District: 704

Tax Increment District: -

Property/Homesteader: COLLANDER, BRADLEY & JULIE

		Assessme	nt Details (20	25 Payable 2	2026)		
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity
201	1 - Owner Homestead (100.00% total)	\$104,100	\$404,000	\$508,100	\$0	\$0	-
	Total:	\$104,100	\$404,000	\$508,100	\$0	\$0	5091





St. Louis County, Minnesota

Date of Report: 12/18/2025 2:28:45 AM

Land Details

Deeded Acres: 5.00 Waterfront: Water Front Feet: 0.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

		Improv	vement 1	Details (SFD)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
HOUSE	1985	1,70	04	1,704	U Quality / 0 Ft ²	SE - SPLT ENTR
Segment	Story	Width	Length	Area	Founda	ation
BAS	1	5	10	50	CANTILE	EVER
BAS	1	10	23	230	WALKOUT BA	ASEMENT
BAS	1	16	26	416	WALKOUT BA	ASEMENT
BAS	1	28	36	1,008	WALKOUT BA	ASEMENT
CN	1	6	8	48	FOUNDA	ATION
DK	1	0	0	499	POST ON G	GROUND
OP	1	0	0	412	POST ON G	GROUND
SP	1	7	16	112	CANTILE	EVER
Bath Count	Bedroom Count		Room C	Count	Fireplace Count	HVAC
1.0 BATH	3 BEDROOMS		-		0	CENTRAL, PROPANE
		mproven	nent 2 De	tails (DG 26X3	32)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
GARAGE	1982	83:	2	832	-	DETACHED
Segment	Story	Width	Length	Area	Founda	ntion
BAS	1	26	32	832	FLOATING	SLAB
	Ir	nprovem	ent 3 Det	ails (2 STORY	/S)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	1997	57	6	1,008	-	<u>-</u>
Segment	Story	Width	Length	Area	Founda	ation
BAS	1.7	24	24	576	FLOATING	SLAB
	lmr	roveme	nt 4 Detai	ls (WOODBOI	LFR)	
Improvement Type	Year Built	Main Flo		Gross Area Ft 2	Basement Finish	Style Code & Des
SAUNA	0	64	1	64	-	-
Segment	Story	Width	Length		Founda	ntion
BAS	1	8	3	64	FLOATING	
		lana or or o		Detelle (OLUE)		
	V 5 "	-		Details (SHIP)		0.1.0.1.0.7
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	32	U	320	-	-
Segment	Story	Width	Length	Area	Founda	





St. Louis County, Minnesota

Date of Report: 12/18/2025 2:28:45 AM

		Improve	ment 6 Details	(ST 10X12)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	S Area Ft ² Base	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	12	0	120	-		-
Segmen	nt Story	/ Width	Length	Area	Founda	ation	
BAS	1	10	12	120	POST ON G	GROUND	
		Improvei	ment 7 Details	(ST 11X19)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	20	9	209	-		-
Segmen	nt Story	Width	Length	Area	Founda	ation	
BAS	1	11	19	209	POST ON C	GROUND	
		Improve	ment 8 Details	(ST 8X12)			
Improvement Type				s Area Ft ² Bas	ement Finish	Style C	ode & Desc
STORAGE BUILDIN		96	5	96	-		-
Segmen	•		Length	Area	Founda		
BAS	1	8	12	96	POST ON G	ROUND	
		Improve	ment 9 Details	(ST 10X18)			
Improvement Type	e Year Built	Main Flo	oor Ft ² Gross	s Area Ft ² Base	ement Finish	Style C	ode & Desc
STORAGE BUILDIN	IG 0	18	0	180	-		-
Segmen	nt Story	/ Width	Length	Area	Founda	ation	
_							
BAS		10 Sales Reported	to the St. Loui	is County Audito	POST ON G	GROUND	
		Sales Reported	to the St. Loui	is County Audito		GROUND	
		Sales Reported	· · · ·	is County Audito		Def Bldg EMV	
No Sales informat	tion reported. Class Code	Sales Reported As	to the St. Loui	is County Audito	r Def Land	Def Bldg	
No Sales informat	tion reported. Class Code (Legend)	Sales Reported As	to the St. Louissessment His	is County Audito tory Total EMV	Def Land EMV	Def Bldg EMV	Capacit
No Sales informat	tion reported. Class Code (Legend) 201	As Land EMV \$104,100	to the St. Louissessment His Bldg EMV \$412,100	is County Audito tory Total EMV \$516,200	Def Land EMV	Def Bldg EMV	Capacit
Year 2024 Payable 2025	Class Code (Legend) 201 Total	As Land EMV \$104,100 \$104,100	ssessment His Bldg EMV \$412,100	tory Total EMV \$516,200	Def Land EMV \$0	Def Bldg EMV \$0	5,201.00
Year 2024 Payable 2025	Class Code (Legend) 201 Total	Land EMV \$104,100 \$80,600	to the St. Louisessessment His Bldg EMV \$412,100 \$412,100 \$296,000	Total EMV \$516,200 \$376,600	Def Land EMV \$0 \$0	Def Bldg EMV \$0 \$0	5,201.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 201 Total 201 Total	Land EMV \$104,100 \$80,600 \$80,600	Bldg EMV \$412,100 \$412,100 \$296,000 \$296,000	Total EMV \$516,200 \$376,600 \$376,600	Def Land EMV \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0	5,201.00 - 3,733.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 201 Total 201 Total 201	Land EMV \$104,100 \$80,600 \$36,300	to the St. Louisessessment His Bldg EMV \$412,100 \$412,100 \$296,000 \$296,000 \$281,000	Total EMV \$516,200 \$376,600 \$317,300	Def Land EMV \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0	5,201.00 - 3,733.00
Year 2024 Payable 2025 2023 Payable 2024	Class Code (Legend) 201 Total 201 Total 201 Total	As Land EMV \$104,100 \$80,600 \$80,600 \$36,300 \$36,300	Bldg EMV \$412,100 \$296,000 \$296,000 \$281,000	Total EMV \$516,200 \$376,600 \$317,300 \$317,300	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Net Tax Capacity - 5,201.00 - 3,733.00 - 3,086.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 201 Total 201 Total 201 Total 201	As Land EMV \$104,100 \$80,600 \$36,300 \$35,100 \$35,100	to the St. Louisessessment His Bldg EMV \$412,100 \$412,100 \$296,000 \$296,000 \$281,000 \$281,000 \$238,100	Total EMV \$516,200 \$516,200 \$376,600 \$317,300 \$273,200	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	5,201.00 - 3,733.00 - 3,086.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	Class Code (Legend) 201 Total 201 Total 201 Total 201	As Land EMV \$104,100 \$80,600 \$36,300 \$35,100 \$35,100	### The St. Louis ### The St. Louis ### St. Louis	Total EMV \$516,200 \$516,200 \$376,600 \$317,300 \$273,200	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	5,201.00 - 3,733.00 - 3,086.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	Class Code (Legend) 201 Total 201 Total 201 Total 201 Total 701 Total	As Land EMV \$104,100 \$104,100 \$80,600 \$80,600 \$36,300 \$36,300 \$35,100 \$35,100	### Total Tax & Special	Total EMV \$516,200 \$376,600 \$317,300 \$273,200 \$273,200 Ory	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	5,201.00 - 3,733.00 - 3,086.00 - 2,605.00
Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 Tax Year	Class Code (Legend) 201 Total 201 Total 201 Total 201 Total 701 Total	As Land EMV \$104,100 \$104,100 \$80,600 \$36,300 \$35,100 \$35,100 \$Special Assessments	Bldg EMV \$412,100 \$296,000 \$296,000 \$281,000 \$238,100 \$238,100 Tax Detail Histor Special Assessments	Total EMV \$516,200 \$376,600 \$317,300 \$273,200 \$273,200 Ory	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacit 5,201.00 3,733.00 3,086.00 2,605.00





St. Louis County, Minnesota

Date of Report: 12/18/2025 2:28:45 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.